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@@ BT 30 AN EECH 2,3, 5, 7, 11, 13, 17, 19, 23, 29, 31, 37, 41, 43, 47, 53, 59, 61, 67, 71, 73, 79, 83,
89, 97, 101, 103, 107, 109, and 113, R AEWAFIXEAT 45 (EHZVRTT BENZ & FIHNX A1
THTHERR

HI~30~ %40k ~\primes{30}.

TEX Ml IT 2 \primes AT T HTA HITHEL, RICAR 7] AR _E IR P2 R AP BAT A A B 8. 1t
TSR

\newif\ifprime \newif\ifunknown % boolean variables
\newcount\n \newcount\p \newcount\d \newcount\a % integer variables
\def\primes#1{2,73), assume that #1 is at least 3

\n=#1 \advance\n by-2 7 n more to go

\p=5 % odd primes starting with p

\loop\ifnum\n>0 \printifprime\advance\p by2 \repeat}
\def\printp{, % we will invoke \printp if p is prime

\ifnum\n=1 and~\fi % ‘and’ precedes the last value

\number\p \advance\n by -1 }
\def\printifprime{\testprimality \ifprime\printp\fi}
\def\testprimality{{\d=3 \global\primetrue

\loop\trialdivision \ifunknown\advance\d by2 \repeatl}}
\def\trialdivision{\a=\p \divide\a by\d

\ifnum\a>\d \unknowntrue\else\unknownfalse\fi

\multiply\a by\d

\ifnum\a=\p \global\primefalse\unknownfalse\fi}

ROR S AR, BR T e MR AE S - AMEH R L, \testprimality SIA T NS KIS
UL, SRORIE A BRI A AN R A2 . 2 \ifprime B B0E N BN, KHE 5 R G E A
H\global’s TEX AbFLILHA)HT AL I [A] LEALBE— N JUHIE 225 % \trialdivision #JEFF T 132 K.
@ UL LR AR % \Loop SEbr AR 8. e T H A AT EAE M 4 \body FRIFZEHIF 51
o, I HEE RS — MR RSN E R B A
\def\loop#1\repeat{\def\body{#1}\iterate}

\def\iterate{\body\let\next=\iterate\else\let\next=\relax\fi\next}

\iterate /RIS /2 \next [WEIT; Kk TEX 7EIHH \next Z HIAEIE \iterate M PITFE iR, X
FEAERAEI T AP A ST TR E AR “AKumRH”

@ NI \hex fETHEAAFES \n BN RIS, B EIULN] T A I, 2
\hex FRIEIAHE AT LLAE L AT o AR AN RSP b, 3 U EE AT B9 \Loop FEAZSEAF, K0+
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NBERIEC TR WA B e SR, e e s 2 2S04 . (6 \n FP AU 200 > 0, )
\def\hex{{\countO=\n \divide\n by16
\ifnum\n>0 \hex\fi \count2=\n \multiply\count2 by-16
\advance\countO by\count2 \hexdigitl}}
\def\hexdigit{\ifnum\count0<10 \number\countO
\else\advance\countO by-10 \advance\countO by‘A \char\countO \fi}

@ MM B — A TR AR T AR SR H 2 B, ‘\length{argument} JEJF 48, &
EEGIG] T 85— DT,
\def\length#1{{\count0=0 \getlength#1\end \number\countO}}
\def\getlength#l{\ifx#1\end \let\next=\relax
\else\advance\countO byl \let\next=\getlength\fi \next}
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